ON EDGEWORTH EXPANSIONS IN BANACH SPACES¹

By F. GÖTZE

University of Cologne

In this paper we define a generalization of Edgeworth expansions for the expectation of functions of normalized sums of i.i.d. Banach space valued random vectors. These expansions are valid up to $0(n^{-(s-2)/2})$ for functions with 3(s-2) bounded Fréchet derivatives and random vectors with finite s^{th} absolute moment.

1. Introduction and Notations. Let (Ω, \mathcal{A}, P) denote a probability space and let X_i , $i \in \mathbb{N}$ denote a sequence of i.i.d. random vectors with values in a separable Banach space E and distribution Q. Assume $EX_i = 0$. Let $f: E \to \mathbb{R}$ denote a measurable function. Assume that there exist an E-valued random vector Y with mean zero and Gaussian distribution Φ fulfilling condition (3.3) (which is related to the condition that Φ has the same covariance operator as Q, i.e.

$$\int x^*(x) \ y^*(x)(Q - \Phi) \ (dx) = 0 \qquad \text{for all} \qquad x^*, y^* \in E^*,$$

for all $x^*, y^* \in E^*$, where E^* denotes the dual space of E). Assume that the symmetric function

$$(1.1) \underline{\eta} \to \varphi(\underline{\eta}) := \int f(y + \eta_1 x_1 + \cdots + \eta_q x_q) \Phi(dy) Q^q(d\underline{x})$$

is defined on $\underline{\eta} \in [0, n^{-1/2}]^q$ for some integers $q \ge 3(s-2)/2$, $s \ge 3$, and has uniformly bounded derivatives up to the order 3(s-2).

Let Q_n denote the distribution of $n^{-1/2}(X_1 + \cdots + X_n)$. Then we define the formal Edgeworth expansion of order s-3 by

(1.2)
$$\int f dQ_n \sim \sum_{i=0}^{s-3} n^{-i/2} P_i(D_\eta) \varphi(\underline{\eta})|_{\underline{\eta}=0}$$

where $P_i(D_{\eta})$ denotes a sum of partial derivatives with respect to $\underline{\eta}$ with orders between i and 3i. In particular, we have

$$P_0(D_\eta) = 1,$$
 $P_1(D_\eta) = \frac{1}{6} \frac{\partial^3}{\partial \eta_1^3}$ and
$$P_2(D_\eta) = \frac{1}{24} \left(\frac{\partial^4}{\partial \eta_1^4} - 3 \frac{\partial^4}{\partial \eta_1^2 \partial \eta_2^2} \right) + \frac{1}{72} \frac{\partial^6}{\partial \eta_1^3 \partial \eta_2^3},$$
 see (2.2).

For $E = \mathbb{R}^k$, this yields the usual Edgeworth expansion, provided that differentiation and integration (with respect to Q and the Lebesgue measure) can be interchanged.

In this case, the expansion (1.2) is valid up to a remainder term of order $0(n^{-(s-2)/2})$ if f is the indicator function of an interval in \mathbb{R}^k and Q fulfills Cramér's condition

$$\lim \sup_{\|t\| \to \infty} |\hat{Q}(t)| < 1$$

where $\hat{Q}(t)$ denotes the characteristic function of Q at $t \in \mathbb{R}^k$. See R. N. Bhattacharya and

Received October 23, 1979; revised June 3, 1980.

¹ Much of this paper is based on the author's Ph.D. thesis at the University of Cologne, 1978. AMS 1980 subject classifications. Primary 62E20; secondary 60B12.

Key words and phrases. Edgeworth expansions, Central Limit Theorem in Banach spaces.

R. Ranga Rao (1976, Corollary 20.5, page 215). A. Bikjalis (1968) proved under the assumption that Q has an absolutely continuous component (which is stronger than (1.3)) that this assertion even holds for every measurable bounded function f.

On the other hand (1.2) holds up to $0(n^{-(s-2)/2})$, if f has s-2 derivatives which are bounded by polynomials. See F. Götze and C. Hipp (1978).

For a separable Banach space E we prove with Theorem 3.1 that (1.2) holds with an error $O(n^{-(s-2)/2})$ if the functions

$$(1.4) \varphi_i(\epsilon_1, \cdots, \epsilon_q \mid \eta_1, \cdots, \eta_q) := \int f(s_{\underline{\epsilon},\underline{\eta}}^{(i)}(\underline{x}, \underline{y})) Q^{n+q} (d\underline{x}) \Phi^{n+q} (d\underline{y}),$$

where

$$s_{\underline{\epsilon},\underline{\eta}}^{(i)}(\underline{x},\underline{y}) := n^{-1/2}(x_1 + \dots + x_i + y_{i+1} + \dots + y_n)$$

$$+ \epsilon_1 y_{n+1} + \dots + \epsilon_q y_{n+q}$$

$$+ \eta_1 x_{n+1} + \dots + \eta_q x_{n+q}, \qquad 2q \ge 3(s-2),$$

admit derivatives of sufficiently high order which are uniformly bounded for $0 \le i \le n$, $n \in \mathbb{N}$ and ϵ , $\eta \in [0, n^{-1/2}]^q$. This condition is fulfilled if f has 3(s-2) bounded Fréchet derivatives. See Theorem 3.5. Theorem 3.1 and Theorem 3.5 extend a result of V. I. Paulauskas (1976, Theorem 4, page 393) who proved a Berry-Esséen bound (i.e. the case s=3 in Theorem 3.5).

The expansion (1.2) does not apply directly to the distribution of functionals of i.i.d. sums in Banach spaces but it yields an expansion for c.f. of the following type

(1.5)
$$\int \exp(itg[n^{-1/2}(x_1+\cdots+x_n)])Q^n(dx), \quad t\in\mathbb{R},$$

where g admits sufficiently many Fréchet derivatives. In F. Götze (1979) we use the asymptotic expansion for (1.5), where g is a quadratic form, in order to derive expansions for the distribution of bivariate von Mises functionals.

2. Notations. Let i, j, k, n, q, r, s denote nonnegative integers and let α, β, γ denote tuples of nonnegative integers of length $q \geq 3(s-2)/2$. For a q-tuple $\alpha = (i_1, \dots, i_q)$ let $|\alpha| := i_1 + \dots + i_q$ and denote by D_{ϵ}^{α} resp. D_{η}^{α} the partial derivatives

$$\frac{\partial^{i_1}}{\partial \epsilon_1^{i_1}} \cdots \frac{\partial^{i_q}}{\partial \epsilon_q^{i_q}}$$
 resp. $\frac{\partial^{i_1}}{\partial n_1^{i_1}} \cdots \frac{\partial^{i_q}}{\partial n_q^{i_q}}$

of functions $g(\epsilon_1, \dots, \epsilon_q | \eta_1, \dots, \eta_q)$, symmetric in ϵ and $\underline{\eta}$. For reasons of simplicity we shall write $g(\epsilon | \eta)$ resp. $g(\epsilon_1, \epsilon_2 | \eta)$ instead of $g(\epsilon, 0, \dots, 0 | \eta, 0, \dots, 0)$ resp. $g(\epsilon_1, \epsilon_2, 0, \dots, 0 | \eta, 0, \dots, 0)$ etc. Furthermore, we shall use the abbreviation $\tau := n^{-1/2}$ in sections 4 and 5.

Let u, d_2, d_3, \dots, d_k denote formal variables. Define the r^{th} Edgeworth polynomial (with respect to the moment variables d_2, \dots, d_{r+2}) by means of the formal power series expansion

(2.2)
$$\sum_{r=0}^{\infty} P_r(u; d_2, \dots, d_{r+2}) t^r = \exp(u\varphi(t))$$

where $\varphi(t) = t^{-2} [\log(1 + \sum_{j=2}^{\infty} d_j j!^{-1} t^j) - d_2 t^2/2]$. See A. Bikjalis (1967), translated (1973, page 153/5).

Replacing the monomials $d_{i_1}d_{i_2}\cdots d_{i_k}$ in $P_r(u; \cdot)$ by the partial derivatives $D_{\eta}^{(i_1,i_2,\cdots,i_k)}$ applied to *symmetric* functions of the variables η_1, \dots, η_k we obtain the differential operator $P_r(u; D_{\eta})$. (Notice that this correspondence is well defined since the partial

854 F. GÖTZE

derivative $D_{\eta}^{(i_1,i_2,\cdots,i_k)}$ of a symmetric function does not depend on the order in the tuple (i_1, \dots, i_k) so that algebraic identities in the commutable variables d_2, \dots, d_s, \dots imply identities for the corresponding partial derivatives).

Define $P_r(D_\eta) := P_r(1; D_\eta)$. Finally, let $\int f(\underline{x}) Q^k(d\underline{x})$, $k \in \mathbb{N}$, denote the integral $\int f(x_1, \dots, x_k) Q(dx_1) \dots Q(dx_k)$.

3. Results. The following is the main result.

THEOREM 3.1. Let $s \geq 3$. Assume that the functions $\varphi_i(\underline{\epsilon} | \underline{\eta})$, $i = 0, \dots, n$ defined in (1.4) are differentiable such that

(3.2)
$$R_n := \sup |D_{\epsilon}^{(j,0,\dots,0)} D_{\eta}^{(i_1,\dots,i_q)} \varphi_i(\epsilon,0,\dots,0)| \eta,0,\dots,0 |$$

exists, where the supremum is taken over $0 \le \epsilon$, $\eta \le n^{-1/2}$ with $\epsilon \cdot \eta = 0$, $i = 0, \dots, n$ and all integers $0 \le j$, $i_1, \dots, i_q \le s$ such that $s \le j + i_1 + \dots + i_q \le 3(s-2)$. Furthermore assume that

$$(3.3) D_{\epsilon}^{\alpha} D_{\eta}^{\beta} \varphi_{i}(0 \mid 0) = D_{\eta}^{\alpha+\beta} \varphi_{i}(0 \mid 0)$$

for $\alpha = (i_1, \dots, i_q), 0 \le i_k \le 2$, $\beta = (j_1, \dots, j_q), i_k + j_k \le s$, for $1 \le k \le q$, $0 \le i \le n$, $|\alpha| + |\beta| \le 3(s-2)$ and $\alpha + \beta := (i_1 + j_1, \dots, i_q + j_q)$. Then

$$\left| \int f dQ_n - \sum_{r=0}^{s-2} n^{-r/2} P_r(D_\eta) \varphi(\underline{\eta}) \right|_{n=0} \le c(s) R_n n^{-(s-2)/2}.$$

(For the definition of $P_r(D_n)$, see (1.1) - (1.2) and the notations.)

DEFINITION 3.4. A Banach space E is called of type 2 if there exists a constant d > 0 such that for every $m \in \mathbb{N}$ and every set of vectors $x_1, \dots, x_m \in E$

$$2^{-m} \sum^* \| \pm x_1 \pm \cdots \pm x_m \|^2 \le d(\| x_1 \|^2 + \cdots + \| x_m \|^2)$$

where \sum^* denotes summation over the 2^n combinations of + and - signs.

See J. Hoffmann-Jørgensen and G. Pisier (1976). Obviously every Hilbert space is of type 2 and it is well known that all function spaces of the form L^p , $2 \le p < \infty$ are of type 2.

Theorem 3.5. Let $s \ge 3$. Assume that E is a separable Banach space of type 2. Furthermore, assume that

(i)
$$m_s := E \parallel X \parallel^s \text{ is finite and } EX = 0.$$

(ii) The function $f: E \to \mathbb{R}$ has 3(s-2) Fréchet derivatives (in the sense of J. Dieudonné (1969, page 149)) which are uniformly bounded on E with respect to the supremum norm of multilinear functionals. Then

(3.6)
$$\int f dQ_n = \sum_{r=0}^{s-3} n^{-r/2} P_r(D_\eta) \varphi(\underline{\eta})|_{\underline{\eta}=0} + O(n^{-(s-2)/2})$$

where $2q \ge 3(s-2)$ and $\varphi(\underline{\eta})$ is defined as in (1.1) with respect to a limiting Gaussian distribution Φ with the same covariance operator as Q.

REMARK 3.7.

(i) The remainder term in (3.6) can be estimated by

$$c(s)\sup\{m_s^{i/s} \mid \mid D^i f(x) \mid \mid : x \in E, s \le i \le 3(s-2)\} n^{-(s-2)/2},$$

where $||D^if(x)||$ denotes the supremum norm of the *i*-linear functional $D^if(x)$.

(ii) For weaker differentiability assumptions and generalizations to the non i.i.d. case see F. Götze (1978).

EXAMPLE 3.8. Let E denote a separable Hilbert space with norm $||x|| = \langle x, x \rangle^{1/2}$. Assume $E ||X||^4 < \infty$. Let c_1 , c_2 , δ denote positive constants. Then we have uniformly in $a \in E$ with $||a|| \le c_1$ and c with $||a|| \le c_2$

$$\int \exp(-r \| x + a \|^{2}) Q_{n} (dx)$$

$$= \chi(r) \exp(-\frac{1}{2} \langle B_{r}a, a \rangle) \left[1 + n^{-1/2} \int (3 \langle B_{r}a, x \rangle \langle B_{r}x, x \rangle) - \langle B_{r}a, x \rangle^{3}) Q(dx) + 0(n^{-1}) \right],$$

where

$$\chi(r) = \prod_{k=1}^{\infty} (1 + 2r\lambda_k)^{-1/2}, \qquad \langle B_r a, a \rangle = 2r \sum_{k=1}^{\infty} \langle a, e_k \rangle^2 (1 + 2r\lambda_k)^{-1}$$

and $\{\lambda_k; e_k\}_{k\in\mathbb{N}}$ denotes the set of eigenvalues and corresponding orthonormal eigenvectors of the convariance operator of Q. The expansion (3.9) can be easily extended up to the order $0(n^{-(s-2)/2})$ if condition (i) of Theorem 3.5 is fulfilled. The proof of these results is referred to Section 5.

4. Lemmas. In the following we shall consider the class of functions

$$\mathscr{F}_{n,\beta} := \{D_{\eta}^{\beta} \varphi_i(\epsilon \mid \eta) : i = 0, \dots, n\}$$

where φ_i are defined in (1.4). Furthermore, we shall use the abbreviation (i), (i, j) etc. for the q-tuples $(i, 0, \dots, 0)$, $(i, j, 0, \dots, 0)$.

LEMMA 4.1. Let $g \in \mathcal{F}_{n,\beta}$. Then

- (i) $D_{\epsilon}^{\alpha}g(0 \mid 0) = 0$ if one of the components of α is odd.
- (ii) Let $c_j = (2j)! j!^{-1} 2^{-j}$, $j \in \mathbb{N}$ and $\alpha_{jk} = (2j, 2(k-j), j_3, \dots, j_q)$. The numbers $b_j := c_j^{-1} c_{k-j}^{-1} (D_{\epsilon}^{\alpha_{jk}} g)(0 \mid 0), 0 \le j \le k$, are equal.

PROOF. (i) This follows from the symmetry of Φ with respect to the map $x \to -x$, $x \in E$.

(ii) Since Φ has a stable law of index 2, $p^2 + q^2 = 2$, p, $q \in \mathbb{R}$ implies

$$(D_{\epsilon}^{\alpha_{00}}g)(\epsilon,\epsilon\mid 0)-(D_{\epsilon}^{\alpha_{00}}g)(p\epsilon,q\epsilon\mid 0)=0, 0\leq \epsilon\leq n^{-1/2}.$$

The $(2k)^{\text{th}}$ derivative with respect to ϵ at $\epsilon = 0$ of this identity yields

(4.2)
$$\sum_{j=0}^{k} b_j \binom{k}{j} (1 - (p^2)^j (2 - p^2)^{k-j}) = 0.$$

Since (4.2) is a polynomial in p^2 which vanishes identically for $0 \le p^2 \le 2$ we obtain the relations

$$\sum_{j=0}^{k-r} b_{j+r} \binom{k-r}{j} (-1)^j = 0, \quad 0 \le r \le k-1 \quad \text{and} \quad \sum_{j=0}^k b_j \binom{k}{j} - b_k 2^k = 0$$

which imply part (ii) of Lemma (4.1). As an application of Lemma 4.1 we have

Remark 4.3. Let $g \in \mathscr{F}_{n,\beta}$.

(i)
$$\sum_{j=0}^{k} (D_{\epsilon}^{(2(k-j),2j)}g)(0 \mid 0) \binom{k}{j} (-1)^{j} = 0$$

856 F. GÖTZE

(ii)
$$D_{\epsilon}^{(2i,2j)}g(0\mid 0) = c_i c_j D_{\epsilon}^2 g(0\mid 0)$$

where $\underline{2}$ denotes the (i+j)-tuple $(2, 2, \dots, 2)$. Notice that condition (3.3) implies $D_{\epsilon}^2 g(0 \mid 0) = D_{\eta}^2 g(0 \mid 0)$.

LEMMA 4.4. Let $p \in \mathcal{N}_0$ and denote by β_i , $2 \le 2i \le p$, the (i+1)-tuple $(p-2i, 2, \cdots, 2)$. Let $\beta_0 = 0$. For $g \in \mathscr{F}_{n,\beta}$ define

$$R_p(D_n)g := \sum_{i=0}^{\lfloor p/2 \rfloor} i!^{-1}2^{-i}(p-2i)!^{-1}(-1)^i D_n^{\beta_i}g.$$

Notice that $R_0(D_n) = 1$ and $R_1(D_n) = R_2(D_n) = 0$. Then

$$|\sum_{i=0}^{s-1} \tau^{i} R_{i}(D_{\eta}) g(0 \mid 0) - \sum_{i=0}^{s-3} \tau^{i} P_{i}(\tau^{2}; D_{\eta}) g(0 \mid 0)|$$

$$\leq c\tau^{s} \sup\{|D_{\eta}^{\beta}g(0|0)|: \beta \in \{0, \dots, s-1\}^{q}, s \leq |\beta| \leq 3(s-3)\}$$

for $s \ge 4$ $(\tau = n^{-1/2})$.

PROOF. Assign to each partial derivative $D^{(j_1,\dots,j_r)}$ the monomial $d_{j_1}\dots d_{j_r}$, $j_i\in \mathbb{N}$, in the formal variables d_2,\dots,d_s . (Compare the remarks following (2.2).) Then $R_i(D_\eta)$ can be defined by means of a formal power series

$$\sum_{i=0}^{\infty} t^{i} R_{i}(d_{2}, \cdots, d_{i+1}) = (1 + \sum_{i=2}^{\infty} t^{i} i!^{-1} d_{i}) \exp(-t^{2} d_{2}/2).$$

The definition (2.2) of the Edgeworth polynomials $P_i(u; d_2, \dots, d_{i+2}), u \in \mathbb{R}$, implies

$$\sum_{i=0}^{\infty} t^{i} R_{i}(d_{2}, \cdots, d_{i+1}) = \sum_{i=0}^{\infty} t^{i} P_{i}(t^{2}; d_{2}, \cdots, d_{i+2}).$$

Define the polynomials $P_{i,j}(d_2, \dots, d_{i+2}), 0 \le j \le i$ by

$$P_i(t^2; d_2, \dots, d_{i+2}) := \sum_{j=0}^i t^{2j} P_{i,j}(d_2, \dots, d_{i+2}).$$

Hence

$$R_i(\cdot) = \sum_{r+2i=i, i\geq 1} P_{r,i}(\cdot), \quad i\geq 1$$

implies

$$\sum_{i=0}^{s-3} P_i(t^2; \cdot) t^i + \sum_{i=0}^{s-1} R_i(\cdot) t^i = t^s \sum_{(i,j) \in A_s} P_{i,j}(\cdot) t^{2j+i-s}$$

where

$$A_s := \{(i, j) \in \mathbb{N}_0^2: i + 2j \ge s, 0 \le i \le s - 3, 1 \le j \le i\}$$

and $s \ge 4$, which proves Lemma 4.4, since $P_{i,j}(D_{\eta})$ is a sum of partial derivatives of order i+2j, where $s \le i+2j \le 3(s-3)$. Notice that we have $\sum_{k=1}^{q} (i_k-2) = i$, $i_k \ge 2$, k=1, \cdots , q, for any partial derivative $D_{\eta}^{(i_1,i_2,\cdots,i_q)}$ which occurs in $P_i(t^2; D_{\eta})$.

LEMMA 4.5. Let $g_m := D_{\eta}^{\beta} \varphi_m \in \mathscr{F}_{0,\beta}$ for $0 \le m \le n-1$. Let $r \ge 3$. Then $|g_{m+1}(0 \mid 0) - g_m(0 \mid 0) - \sum_{i=1}^{r-3} \tau^i P_i(\tau^2; D_{\eta}) g_m(0 \mid 0)|$ $\le c \tau^r \sup\{|(D_{\eta}^{\gamma} g_m)(0 \mid \eta \tau)| + |(D_{\epsilon}^{(i)} D_{\eta}^{\gamma} g_{m+1})(\epsilon \tau \mid 0)|$:

$$\gamma \in \{0, \dots, r\}^q, r \le i + |\gamma| \le 3(r-2), 0 \le \epsilon, \eta \le 1, 0 \le i \le r\}.$$

PROOF. By Remark 4.3 we have

$$g_{m+1}(0 \mid 0) = \sum_{0 \le 2k \le r-1} \tau^{2k} 2^{-k} k!^{-1} \sum_{i+j=k} {k \choose i} (-1)^{i} c_{i}^{-1} c_{j}^{-1} D_{\epsilon}^{(2i, 2j)} g_{m+1}(0 \mid 0)$$
$$= \sum_{0 \le 2i \le k-1} \tau^{2i} (2i)!^{-1} (-1)^{i} [\sum_{0 \le 2j \le r-2i-1} \tau^{2j} (2j)!^{-1} D_{\epsilon}^{(2i, 2j)} g_{m+1}(0 \mid 0)].$$

By Taylor expansion, the sum over j within the brackets is equal to $(D_{\epsilon}^{(2i)}g_{m+1})(\tau \mid 0) + 0(\tau^{r-2i})$ (use Lemma 4.1(i)). By definition $(D_{\epsilon}^{(2i)}g_{m+1})(\tau \mid 0) = (D_{\epsilon}^{(2i)}g_m)(0 \mid \tau)$. Hence.

$$g_{m+1}(0 \mid 0) = \sum_{0 \le 2i \le r-1} \tau^{2i}(2i)!^{-1}(-1)^{i}(D_{\epsilon}^{(2i)}g_{m})(0 \mid \tau) + O(\tau^{r}).$$

Expanding $v \to (D_{\epsilon}^{(2i)}g_m)(0 \mid \tau v)$, $v \in \mathbb{R}$ in a Taylor series up to a remainder term of order $0(\tau')$ we obtain

$$g_{m+1}(0 \mid 0) = \sum_{p=0}^{r-1} \tau^p R_p(D_p) g_m(0 \mid 0) + O(\tau^r).$$

An inspection of the various remainder terms and the application of Lemma 4.4 proves Lemma 4.5.

LEMMA 4.6. Assume that E is a separable Banach space of type 2 (see Definition 3.4). Assume $E \|X\|^2 < \infty$. If Φ has the same covariance operation Q then

$$\int w(x, x)(Q - \Phi) (dx) = 0$$

for every continuous bilinear form $w: E^2 \to \mathbb{R}$.

PROOF. For $(t, x) \in \mathbb{R}_+ \times \mathbb{R}$ let

$$\chi_{t}(x) \begin{cases} 0 & x \geq t+1 \\ t-x+1 & x \in [t, t+1] \\ 1 & x \leq t. \end{cases}$$

By M. X. Fernique (1970, page 1698) $\int \|x\|^p \Phi$ (dx) exists for every p > 0, especially for p = 2. Using $\int w(\cdot, \cdot) dQ = \int w(\cdot, \cdot) dQ_n$ and $|w(x, y)| \le ||w|| ||x|| ||y||$ we obtain

(4.8)
$$\left| \int w(\cdot, \cdot) \ d(Q - \Phi) \right| \leq \left| \int w(\cdot, \cdot) \chi_{t}(\|\cdot\|) \ d(Q_{n} - \Phi) \right| + \| w \| \left[\int \| x \|^{2} 1_{(\|x\| > t)} (Q_{n} + \Phi) \ dx \right].$$

By the central limit theorem (see J. Hoffmann-Jørgensen and G. Pisier (1976, Theorem 3.6, page 597)) the first term on the r.h.s. of (4.8) tends to zero for $n \to \infty$. Since the sequence Q_n is relatively compact, we can apply a result of A. de Acosta and E. Giné (1979, Theorem 3.2(3), page 217) with $\Phi = 4(2 + x^2)$ which shows that the second term on the r.h.s. of (4.8) converges to zero for $t \to \infty$ uniformly in $n \ge 1$, thus proving (4.7).

5. Proof of the theorems.

Proof of Theorem 3.1. The proof runs by induction on the length of the expansion. We shall prove that for $r \geq 3$, $g_m(\xi | \eta) := D_n^{\beta} \varphi_m(\xi | \eta)$ and $0 \leq m \leq n$

$$|g_m(0 \mid 0) - \sum_{i=0}^{r-3} \tau^i P_i(m\tau^2; D_n) g_0(0 \mid 0)| \le c(r) \tau^{r-2} w_{m,n}(r)$$

where $w_{m,n}(r) := \sup\{|(D_{\epsilon}^{(i)}D_{n}^{\gamma}\varphi_{i})(\epsilon\tau \mid \eta\tau)| : \epsilon \cdot \eta = 0, 0 \le i \le r,$

$$\gamma \in \{0, \dots, r\}^q, r \le |\gamma| + i \le 3(r-2), 0 \le \epsilon, \eta \le 1, i = 0, \dots, m\}.$$

The assertion (5.1) implies Theorem 3.1 with m=n, r=s and $\beta=(0, \cdots, 0)$. The induction is based on the obvious identity

$$g_m(0 \mid 0) - g_0(0 \mid 0) = \sum_{i=1}^m (g_i - g_{i-1})(0 \mid 0).$$

We start with r = 3. By Lemma 4.5 (with r = 3) the r.h.s. of (5.2) can be estimated by

$$(5.3) c(3)\tau^3 m w_{m,n}(3) \le c(3)\tau w_{m,n}(3).$$

858 F. GÖTZE

Assume that (5.1) has been proved for $r = 3, \dots, s - 1$. We apply Lemma 4.5 to each term of the sum (5.2), expanding up to terms of order $0(\tau^s)$. Hence

$$|(g_m - g_0 - \sum_{i=1}^m \sum_{i=1}^{s-3} \tau^i P_i(\tau^2; D_n) g_{i-1})(0 \mid 0)| \le \tau^s m \bar{R}_n$$

for $0 \le m \le n$, where the remainder term is the supremum over the remainder terms of Lemma 4.5. Application of the inductive assumption (5.1) to $P_i(\tau^2; D_{\eta})g_{j-1}$ with m = j - 1, r = s - i, $i \ge 1$, yields

$$|P_{i}(\tau^{2}; D_{\eta})g_{j-1}(0 \mid 0) - \sum_{k=0}^{s-3-i} \tau^{k} P_{i}(\tau^{2}; D_{\eta}) P_{k}(\tau^{2}(j-1); D_{\eta}) g_{0}(0 \mid 0)|$$

$$\leq \tau^{s-1} \sup\{|(D_{\epsilon}^{(l)} D_{\eta}^{\gamma} P_{i,k}(D_{\eta})g_{p})(\epsilon \mid \eta)| \tau^{2k-2} : \gamma \in \{0, \dots, s-i\}^{q},$$

$$l \leq k \leq i, p = 0, \dots, j-1, s-i \leq |\gamma| + l \leq 3(s-i-2),$$

$$0 \leq l \leq s-i, 0 \leq \epsilon, \eta \leq \tau, \epsilon \eta = 0\}.$$

Since $P_{i,r}(D_{\eta})$ has degree i+2r, we obtain from (5.4) and (5.5) for $0 \le m \le n$

$$g_m(0 \mid 0) = g_0(0 \mid 0) + \sum_{j=1}^m \sum_{i=1}^{s-3} \sum_{k=0}^{s-3-i} \tau^i P_i(\tau^2; D_\eta) \tau^k P_k(\tau^2(j-1); D_\eta) g_0(0 \mid 0) + \bar{R}_n m \tau^s$$
 where $|\bar{R}_n| \le c w_{m,n}(s)$ and

$$P_k(\tau^2(j-1); D_\eta) = \begin{cases} 0 & \text{if } j = 0, \, k > 0 \\ 1 & \text{if } j = 1, \, k = 0. \end{cases}$$

Using the relation

$$\begin{split} \exp(j\,\varphi(t)) &= \exp((j-1)\varphi(t)) \exp(\varphi(t)) \\ \varphi(t) &= \log(1 + \sum_{k=2}^{\infty} d_k k!^{-1} t^k) - d_2 t^2 / 2 \end{split}$$

of formal power series we obtain

$$\sum_{k+i=r} P_k(\tau^2(j-1); D_{\eta}) P_i(\tau^2; D_{\eta}) = P_r(\tau^2 j; D_{\eta})$$

for $j \ge 1$, $r \ge 0$. This together with (5.6) implies

$$g_m(0 \mid 0) = g_0(0 \mid 0) + \sum_{r=1}^{s-3} \tau^r \sum_{j=1}^m \left[P_r(j\tau^2; D_n) - P_r((j-1)\tau^2; D_n) \right] g_0(0 \mid 0) + \tau^s m \bar{R}_n$$

thus concluding the proof of the induction step.

PROOF OF THEOREM 3.5. We show that the conditions of Theorem 3.1 are fulfilled. By Theorem 3.5 in J. Hoffmann-Jørgensen and G. Pisier (1976, page 596) there exists a mean zero Gaussian p-measure Φ with the same covariance functional as Q. Notice that

$$(x_1, \dots, x_k) \rightarrow \frac{\partial^{r_1}}{\partial \epsilon_1^{r_1}} \dots \frac{\partial^{r_k}}{\partial \epsilon_k^{r_k}} f(y + \epsilon_1 x_1 + \dots + \epsilon_k x_k)|_{\epsilon_1 = \dots \epsilon_k = 0}$$

is a multilinear functional bounded by $\omega_{r_1+\cdots+r_k}(f)\|x_1\|^{r_1}\cdots\|x_k\|^{r_k}$, where $\omega_r(f):=\sup\{\|D^rf(x)\|:x\in E\}$.

Furthermore, we have $\int \|x\|^p \Phi(dx) \le c(p) m_2^{p/2}$, p > 0. See F. Götze (1979, Lemma 3.30).

Hence,

$$|D_{\epsilon}^{(j_1,\dots,j_q)}D_{\eta}^{(i_1,\dots,i_q)}\varphi_i(\underline{\epsilon} \mid \eta)| \leq \omega_r(f)m_{i_1} \cdots m_{i_r}m_2^{j_1/2} \cdots m_2^{j_q/2}$$

where

$$i_1 + \cdots + i_q + j_1 + \cdots + j_q = r$$
 and $i_1, \cdots, i_q \le s$

follows by interchanging differentiation and integration with the help of Lebesgue's Theorem of Dominated Convergence and Fubini's Theorem. Similar arguments together with Lemma 4.6 prove condition 3.2.

PROOF OF REMARK 3.7(i). The assertion follows from $m_i \leq m_s^{i/s}$, $i \leq s$ together with (5.7) and Theorem (3.1).

PROOF OF EXAMPLE 3.8. The functions $f_{r,a}(x) := \exp(-r \|x + a\|^2)$ fulfill the condition (ii) of Theorem 3.5 uniformly in r and a, for every $s \ge 3$. It remains to show that

$$\int \exp(-r \parallel x + a \parallel^2) \Phi (dx) = \hat{\chi}(r) \exp\left(-\frac{1}{2} \langle B_r a, a \rangle\right).$$

This relation follows from the corresponding formula for the sequence of subspaces $\mathbb{R}e_1 + \cdots + \mathbb{R}e_k \subset E$, $k \in \mathbb{N}$, see G. V. Martinov (1975, page 790, (18)) and the Theorem of Monotone Convergence.

Acknowledgment. I would like to thank the referee for several helpful comments.

REFERENCES

DE ACOSTA, A. and GINÉ, E. (1979). Convergence of moments and related functionals in the general central limit theorem in Banach spaces. Z. Wahrsch. verw. Gebiete 48 213-231.

BHATTACHARYA, R. N. and RANGA RAO, R. (1976). Normal Approximation and Asymptotic Expansions, Wiley, New York.

Bikjalis, A. (1967). Remainder terms in asymptotic expansions for characteristic functions and their derivatives. *Litovsk. Mat. Sb.* 7 571-582. (Selected Translations in Statist. and Probab. 11 (1973) 149-162.)

BIKJALIS, A. (1968). Asymptotic expansions for the densities and distributions of sums of independent identically distributed random vectors. *Litovsk. Mat. Sb.* 8 405-422. (Selected Translations in Statist. and Probab. 13 (1973) 213-234.)

DIEUDONNÉ, J. (1969). Treatise on Analysis. Vol. 10, Academic, New York.

FERNIQUE, M. X. (1970). Intégrabilité des vecteurs Gaussiens. Comptes Rendus Acad. Sci. Paris. Sér. A 270 1698-1699.

GÖTZE, F. (1978). Asymptotic expansions in the central limit theorem in Banach spaces. Inaugural-Dissertation. University of Cologne.

Götze, F. (1979). Asymptotic expansions for bivariate von Mises functionals. Z. Wahrsch. verw. Gebiete 50 333-355.

GÖTZE, F. and HIPP, C. (1978). Asymptotic expansions in the central limit theorem under moment conditions. Z. Wahrsch. verw. Gebiete 42 67-87.

HOFFMANN-JØRGENSEN, J. and PISIER, G. (1976). The law of large numbers and the central limit theorem in Banach spaces. *Ann. Probab.* 4 587-599.

MARTINOV, G. V. (1975). Computation of distribution functions of quadratic forms of normally distributed random variables. *Theory Probab. Applic.* **20** 782-793.

Paulauskas, V. I. (1976). Convergence of some functionals of sums of independent random variables in a Banach space. *Litovsk. Mat. Sb.* 16, 3, 103-121 (Russian). *Lithuanian Math. Trans.* (1976) 16 385-399.

MATHEMATISCHES INSTITUT DER UNIVERSITÄT ZU KÖLN WEYERTAL 86-90 5000 KÖLN 41 WEST GERMANY (BRD)